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TEAR HERE TO OPEN THE QUESTION PAPER

1) udenefi @Ewem 31U - W AHE ifHaEa: fore|

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) |t uvA w eifE g
All the questions are compulsory.
3) Tk U9 T I &t T3 STR-YEaeht | & foral|

Write the answer to each question in the given answer-book only.
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4) 5 gt ° sraiter @ue E, 37 Ot & SR uw @y § o)

For questions having more than one part the answers to those parts are to be
written together in continuity.

5) Uy U= o R 9 SISt wuraon | foRet yeRr Bt 3 / o / ferename g w @t v
* T R & wd wH|

If there is any error / difference/ contradiction in Hindi & English versions of
the question paper, the question of the Hindi version should be treated valid.

6) T 1 IR foTEH | d T9H 1 HATH avd ol

Write down the serial number of the question before attempting it.
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SECTION - A
oo T | ° agfasedt wem 2 e wdt sw swm-gie # foifem

Question No.l contains multiple choice questions. Write the correct answer in your
answer book.

1) 1) T aaeH e R 2- [V3]

) wEIER q)  ShicTHTA
q)  &wAYR g) AR
Sugarcane breeding institute is located at -
A) Coimbatore B) Kolkata
C) Kanpur D) Nagpur

ii)  UeRESTOR TR HTed < JeTe - 7]
HN) ) T
¥) GEEEA ) TR
An example of monocotyledons transgenic plant is -
A) Brinjal B) Wheat
C) Soyabean D) Carrot

i) iRk e fafaemn & grn Scow yrestee i e @ - [¥4]
A ‘whEE )
¥)  gE v ReEw 7) U A
Variety developed through somaclonal variation -
A) 'Scarlet’ B) 'Sigma’
C) 'PusaJai Kisan' D) Allofabove

iv) &es @1 T @ - [V4]
) AR ) AUSRU
) e 3)  FTEE
An order of termite is -
A) Orthoptera B) Lapidoptera
C) Coleoptera D) Isoptera
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V)  anffeR SNumR W, enueRes e g - [V4]
#) o sfozw 9)  TmdeR f
w) e Bt g) e swew
An economically beneficial insect is -
A) Apisindica B) Amsacta moorei
C) Schistocerca gregaria D) Sesamia inferens
vi) g i Faf=a o aren digswaneht wgema 2 - KA
) FwAEEh q)  HeAHATE
)  gEAHEAE g) HAHATIM
Pesticide that control rats is called -
A) Miticides B) Rodenticides
C) Nematicides D) Fungicides
Vil) TEE S FEA Tt et § SO o 10 ©di o TRi AW i, TS i TS Wi AR -
[72]
a) 30 - 60 ==, /) 5- 10
9)  10-15 =, g) 15-20%.
To protect the crops from jumping insects, the width of the trench around the
fields is -
A) 30-60cm B) 5-10cm
C) 10-15cm D) 15-20cm
Viii) HTSeRIcTIeR 1 ek hgl WAl g — [V4]
HA) WU Agehed ) . oo
W) 3)  wfew @ goa
Who is known as father of mycology?
A) P.A.Micheli B) Prof. Millardet
C) Waksman D) Schmeling and Kulka
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ix) el Sy, SRR A E %]
HA) AR q) TSGR
") WiUeTRR 3) faf=n
Morphology of xanthomonas bacteria is -
A) Coccus B) Rod
C) Spirillum D) Vibrio
X) g i i e < e FE 4]
) o uE WS W 9) ufwat vd WEi W
) .t vd we W 3 TS W
In powdery mildew diseases, white powdery mass produced on -
A) On the stems and roots B) On the leaves and roots
C) On the leaves and fruits D) On the roots
Xi) EHTEX I YUl FHo I FT - [¥4]
3) S g 7) fawmgm
W) wEw ga 3) g gE
Leaf curl disease of tomato is due to -
A) Bacteria B) Fungi
C) Virus D) Nematode
Xil) URIATERE TSIl 1 FARM & — EA|
¥)  °EgAEw a)  fom g
v) o gem g) TR gFRM
Paralongidorus species of nematode is called -
A) Needle Nematode B) Pin Nematode
C) RingNematode D) Dagger Nematode
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xiil) v 3 T dm % P g T 2 - %]

H)  HHARE F) Hemd
W) S T)  HEEIH
Nematicide used to control Molya disease of wheat is -
A) Quinalphos B) Mancozeb
C) Dimethoate D) Carbofuran
Xiv) =ie # varea foren femeeh g gt 22 [¥]
) BEE TN q) EEGE
w) ficwgm 3) i g
Respiration in snails takes place through -
A) Through lungs B) Through skin
C) Through Gills D) Through trech
xv) Ty & auws o ae feg st wn wht fmiem e @ - [¥4]
HA) 3-4=R q) S5-6"r
") 7-8@R 3) 9-10=R

The Grasshopper molts its spin from stage nymph to adult -

A) 3 -4times B) 5-6times
C) 7-8times D) 9-10times
xvi) Todiere=r =1 T @ - [V4]
H)  UYHRE U d) WH HIC qred
) G hie e 3) W& U

Pisciculture is related to -
A) Apiculture B) Sericulture
C) Lacculture D) Fisheries
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Fill in the blanks :

) TIYH VST T FAYYH ST ... 387 1900 # feram| [V2]
The word mutation was firstusedby ~ in 1900.

i) o TR T S U e ST T AR w4
The progenies of self pollinated species of completely homozygous plant is
called

i) T A 2 R e £ frer 31 4]
Flavr savr is transgenically developed variety of

iv) afRuoadR s e da s ................ Ut W U A 2 [%]
The  part of the plant is used for meristem culture.

V) R BIRNR .coeennnnnn. , 981 U 3R ¥ faweh gan 2 [V4]
The body of insect is divided into | thorax and abdomen.

Vi) UHET S{iE S 3TUAT U T4 hTal-eh TEied | UTH BTl € 3 e FE gl [Y

An organism which obtains its nutrition from dead organic matter is called

vil) GFRM H UREEROI T ... = quUid: U g g [¥4]

Circulatory and systems are completely absent in nematode.

viii) reATft gfer T aaa o foren e sretferes e @At 2l [Y4)
It is more benificial to use insecticide dust in the time.

ix) fhedt =t IS TH & FROT ..o, foram = first shgean 21 [V4]

1s called a farmer's friend because it makes the soil fertile.
X) USRI U ... o gl 2 2l [4]

Respiration in fishes occurs through

SS—-39-Agri. Bio. 6026 [ Turn Over



8
3) oifa egauers uwA | Fafeiaa ueai o S U visg suan sk ufek ® ferRa)

Very short answer type questions. Give the answer of following questions in one
word or one line.

i) QW YL:EATYA Uik i IS U wrut ferRau) [1]

Write any one step of process of plant introduction.

i) oRETeT foRn ® weyweRel 6 it feifau) [1]

Write the role of honey bees in pollination process.

iii)  SFFEH TR e 27 1]
What is adaption?

iv) e i e fifm) [1]
Define Callus.

v) e ¥ sifqada & e siftrm: 2 1]

What is meant by overgrowth in the host?

vi) 3T o G HUERA ¥ Uk wraer feRau) [1]
Write one precaution for safe storage of grains.

vi) afswat o g ufor A @ g vk cg fefan) [1]
Write any one symptom of root knot disease of vegetables.

viil) e B e B (1]

What is rotendicides?
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SECTION - B

TYTIHE T © (W 1 oFHT 50 911)
Short answer type questions : (Answer limit approximately 50 words)

4) iR i GRHTNG hifTe TF fgeae SiF iy st Jwesu| [Va+1=1Y%]

Define Gene pool and explain the secondary Gene pool.

5) WTSshl SV deheieh Sl AHITehd ot TS| [1%]

Draw a labeled diagram of micro injection technique.

6) Ui T R (YT YT HH{HAT) i T [1%]
Explain P.C.R. (Polymerase Chain Reaction).

7) EEA U TNH o hiei T SATeieR MR W arfiertut hifsTu) 1]

Classify the pest affecting crops on economic basis.

8) e Fa=r 4 gk w1 SuERT THeEd| [1%]

Explain the use of fumigants in pest control.

9)  SHaU] HIITERIST %, SRR i Ao THEEU) [1Y]
Explain the morphology of bacterial cell with diagram.

10) um-urE (G+ve) va am-3wd (G—ve) U @ig @7 e foRam) [3xY2=1Y3]

Write any three differences between Gram - Positive and Gram - Negative.

11) %W % crguut I % B A wew fRaw) [3x%=1%]

Write any three symptoms of little leaf curl disease of brinjal.
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12) 7 % Gg I &% TE-LH H AUH hifeC| [1Y%]

Describe the management of Ear Cockle disease of wheat.

13) ™ o wm= i foRau) [1%]

Write general introduction of Nematode.

14) Fg gR e TR g A gt fefea) [3x%=1%]

Write any three losses caused by earthworm.

15) vehftm ot enfddes wewa fefau) [1%]

Write the economic importance of Ascaris.

Qg -9
SECTION - C

3 I W9 (ST HH R 100 9153)
Long answer type questions : (Answer limit approximately 100 words)

16) 3T™ Hg | T AWIE: g TS 36K THR 1 JUMH hite| [1+2=3]
What is meant by centres of origin and write its types.
Jgar/OR
Y€ AYERH TEF W R ATHUE: U 36 T9A o < Uil ST GUiH i)

What is meant by pure line selection and describe its two characters of this selection.

17) Uehi@ & SHiaA sk il TUTST 2T S8kt STl ngwe fefa) [1+2=3]

Explain the life cycle of Ascaris and write its economic importance.
rgar/OR

o <t wTEer TREAT Sl AHETIST aA SEeR STfYe e feTRa|
Explain the external structure of Flea and write its Economic importance.
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THelell UBell <hl STl ST Sl Ao FUiH hifu| [1+2=3]
Describe the external structure of Catla Fish by a labeled diagram.
Jgar/OR
TETITR ASEl hl ATel TEEHT S Ao Juiq Fhifsu|

Describe the external structure of Mahsheer fish by a labeled diagram.

Qug - 3
SECTION - D

el 3wl weA (I Hiw 250 )

Long answer type questions (Answer limit approximately 250 words)

19)

20)

R HA TR T AR AH, S =6k, &fd U Ta+LH i qUMH hifeTg]
[Va+1+1+1Y%5=4]

Describe the scientific name, life cycle, nature of damage and management of Ber
fruit fly.

Jgar/OR
T & HIFAT Sl AT M, ST ek, &ifd T Ta-eH i 9UiH Shifsg|
Describe the scientific name, life cycle, nature of damage and management of
mustard Aphid.

St % 31T HUSAT I T ISR, T T W Ja-eH i foraR & awemeal [Vot+1Y:+2=4]
Explain in detail about pathogen, symptoms and management of covered smut
disease of Barley.

Jgar/OR
Wil o guiteta 1 (et Tm) 1 T, 8101 Ue Yarer i forar & awened|
Explain in detail about pathogen symptoms and management of leaf spot or Tikka
disease of Groundnut.

oProeoleed
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